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Instructions for the candidates :-

1. lereff OMR SR U5& WR UAT U YRIIBT HHIdb (10 3l B1) a9
fored |
Candidate must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

2. oRIeefT JATHIE 370+ Tl H &l IR S |
Candidates are required to give answers in their own words as far
as practicable.

3w ek BRA W RY g e it A o §)

Figures in the right hand margin indicate full marks.



gedl &I SMYdd UG & oy qRiental &I 15 e &1 ifaRed a9y
= T B |

15 minutes of extra time has been allotted for the candidates to

read the questions carefully.

I8 U YRAPT 31 WSl H B, Gue—3 Ud Hus—q |

This Question Booklet is divided into two sections: Section-A and
Section-B.

Wus—3 H 100 IS U ©, ROH 9 B 50 YAl &1 IR <A
AFER] 2| U W e Ul b SR o7 WX UM 50 IIRI B B
ARG AT ST | Ud U9 & folg 1 3fd MeiRd g | |81 SR Bl

Iuee PR T OMR SR 99 # &3 T &1 g &I el /Bl afed

U | | fF W PR & R /IR U/ @lS /ARG 3Mfe &l
SR—YRADT § YANT BRAT H1 &, F=AT YRIET YROMH S ST |

In Section-A, There are 100 objective type questions, out of which
any 50 questions are to be answered. First 50 answers will be
evaluated in case more than 50 questions are answered. Each
Question carries 1 mark. For answering these darken the circle
with blue/black ball pen against the correct option on OMR Answer
Sheet provided to you. Do not use Whitener/liquid/blade/nail etc.

on OMR-Sheet, otherwise the result will be treated invalid.

Gus—g H 30 TYSTNIG U & | ISP U D forg 2 I EiRa

= 9 gl 15 91 &1 SR <A1 Afar 2 | 590 JifaR«d, 59 wrs



¥ g g ST U I M 2 U U & forv 5 & iR ¥,
= 9 sl 4 U=l &7 SR <71 2 |

In Section-B, there are 30 Short answer type questions. Each
question carries 2 marks, out of which any 15 questions are to be
answered. Apart from these, there are 8 Long Answer type
questions, each question carries 5 marks, out of which any 4

questions are to be answered.

8. f¥l UBR & Seldei-h SUBRUT BT SKIAT Youidal dferd ¢ |

Use of any electronic appliance is strictly prohibited.

Section — A (Objective Type Questions)
Gug—3 (q&IfIss y¥)
U AT 1 W 100 96 D YA YT & A1 IR Adey v v €, ReE w9

Tdh |El & | fdgl 50 Ul @ SR < | AU gRT g ¢ Fel fAwmed & OMR—3fie

R ffeed & | 50 X 1=50

Question No.- 1 to 100 have four options, out of which only one is
correct. Answer any 50 questions. You have to mark your selected option on

the OMR-Sheet. 50x1 =50

1. &R DN ¥ GafEd oM vd 99 &1 gmr Sk § —
(A) JMI—0g | H (B) faes @ 9wy ueT H
(C) e & i uet # (D) b @rar H
Income and expences related to the prize fund is shown in :-
(A) Income and expenditure A/C
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(B) Asset side of the Balance-sheet

(C) Liability side of the Balance-sheet

(D) Cash Account

IMI—T @I H oF—< gof fby o1d & —

(A) oiTa sgfa & (B) 3marTa uepfd

(C) (A) Td (B) s (D) &4 | 3% &
Income and Expenditure Account records transaction of :-
(A) Capital Nature (B) Revenue Nature
(C) (A) and (B) both (D) None of these

=1 9 9 B o A8 7 ?

(A) =T (B) T

(C) fewe @1 fam (D) woerie ffy

Which of the following is not an Income ?

(A) Subscription (B) Donation

(C) Sale of ticket (D) Endowment Fund
™ A HAM el Axermell § g &Y M WR AfABAT BT FHEl oIl 8§ —
(A) =1 (B) @

(C) & (D) =1ferery

In the “not-for-profit organisation”, excess of expenditure over income
is called : -

(A) Loss (B) Profit

(C) Deficit (D) Surplus



T & B oI T B dTell AT T8 § 7
(A) HETfIeTTy (B) Wddmg aerd
(C) Arefa ST (D) 3T

Which of the following is not a not for profit organization ?

(A) College (B) Sports Club
(C) Maruti Udyog (D) Hospital
SR Ty @ W 7S Rl o ¥ —

(A) I =T @rar H (B) Rexfer faazor #
(C) (A) wd (B) 3=t # (D) s & PIg e

All items of Revenue nature are shown in :-
(A) Income & Expenditure A/C (B) Balance-sheet

(C) (A) and (B) both (D) None of these

UH Fold g§RT 9T 1M a< &I fes & fow ue # faamr <mar g °?

(A) FafaT ger (B) wifire ger

(C) sfde ua (D) fsc uer

Subscriptions received in advance by a club are shown on which side
of the Balance-sheet ?

(A) Assets Side (B) Liabilities Side

(C) Debit Side (D) Credit Side

I UG J WAl BT Y Sial & —

(A) ¥R IHS (B) Ioft @1y

(C) = 3 (D) iR /e



10.

11.

12.

Balance of Income and Expenditure Account shows : -
(A) Cash in hand (B) Capital fund

(C) Net-profit (D) Surplus/Deficit

SMA—JY YTl 41T Il % —
(A) TGRS HRIT §RI (B) mUtRer AT gIRT
(C) ™ 9 HHM dTell SRRl gIRT (D) 31 & PIg =l

Income and Expenditure Account is prepared by -

(A) Business organisation (B) Trading organisation

(C) Not-for-profit organisation (D) None of these
USiTa Ui @1 a1 wiftqal faems il & —

(A) JMI—g FTar H (B) Rerfar fqavor #
(C) ari—gi+ @rar (D) s 9 IS 2l
All Receipts of Capital nature are shown in :-

(A) Income & Expenditure A/C (B) Balance-Sheet

(C) Profit and Loss A/C (D) None of these

T HRI §RT U &wal & —

(A) Sofrra sfe (B) SmrTer wiftet

(C) (A) v (B) I (D) &% & BIg I
Donation received by an organisation is :

(A) Capital Receipt (B) Revenue Receipt

(C) (A) and (B) both (D) None of these

Udh deld gIRT YT SINICE IR RG] RJch g =
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13.

14.

15.

(A) T fe (B) Fofivrer rfie
(C) (A)Td (B) qTT (D) 54 X I e

Life membership fees received by a club is :-

(A) Revenue Receipt (B) Capital Receipt
(C) (A) and (B) both (D) None of these
IR—eaTRe Axermell § qudmRll W) uREwfd & IMead & dgd 8 —
(A) Toir ffer (B) Toft

(C) =ms (D) L& o

The excess of Assets over Liabilities in non-trading concerns is termed

as :-
(A) Capital Fund (B) Capital
(C) Profit (D) Net proft

STH 9 BIF RN $I faemar 78 7 ?

(A) i (B) A fanToT

(C) ifaa e (D) &1 a1 &1 ¥ 31 eafa
Which one is not the feature of partnership ?

(A) Agreement (B) Sharing of profit

(C) Limited Liability (D) Two or more than two persons

fe<f) THsia & oMTg § WISER] BH & oM T4 81+ & faure fbar S
S

(A) TRTR—TRTER (B) USir @ 3rgura 4

(C) fafir= srgomd (D) &4 & ¥



16.

17.

18.

In the absence of any agreement, the profits and losses of the

Partnership firm are divided :-

(A) Equally (B) In Capital Ratio
(C) In different proportions (D) None of these
AT RIS AT 99/ T SIdr 8 -

(A) T DY g9 B ford (B) I§ o™ Mt & ford
(C) fawrsa o™ gk & for (D) =74 & BIg &I

Profit and Loss Appropriation Account is prepared to :-

(A) Create Reserve Fund (B) Find out Net Profit

(C) Find out divisible profit (D) None of these

ATRIERl @ §RT %4 &I AT T | R &It © —

(A) fafrarsH (B) <

(C) R (D) & & B¢ Tel
Interest on advance given to the firm by partners is :-
(A) An appropriation (B) Gain

(C) Charge (D) None of these
ATe] Tl § —

(A) I G (B) arfd® @ral
(C) =reHT &t (D) s & @I -7l

Current Account is :

(A) Personal A/C (B) Real A/IC

(C) Nominal A/C (D) None of these



19.

20.

21.

22.

ATSIERT T =Te], Wl 1T Sl © S AIEIeR ®1 Yol X&) Sl 8 -
(A) aRTTEN MR W (B) IR MR W
(C) <M &1 uRRerferl 3 (D) s & BIS &l

Partners current account is prepared when capital of partners is

maintained under :-

(A) Fluctuating basis (B) Fixed basis

(C) In both of the situations (D) None of these

ARERT T3 & WG § AR B Yol IR 19 &3 SR —
(A) 8 Tfera arftien (B) 6 wftrerd arfifen
(C) 9 yfcrerd arfie (D) 377% & @IS &

In the absence of partnership deed, interest on capital will be given to
the partners at :-
(A) 8 % p.a. (B) 6 % p.a.

(C)9 % p.a. (D) None of these

T AT RGN H AEERI @ JAfehad =T & ddbdl & —

(A) 50 (B) 10

(C) 15 (D) 20

In an ordinary partnership, maximum number of partners can be :-
(A) 30 (B) 10

(C) 15 (D) 20

= § & -1 a™ BT e ' ?

(A) =TT IR =TS (B) Toft wR =t



(C) 3a= (D) &% & BIg el
Which of the following is an appropriation of profit ?
(A) Interest on loan (B) Interest on capital
(C) Salary (D) None of these

23,  WERER & Yol W T & T Bl § —

(A) URM®S USil WR (B) a1f<¥ Uoil &R
(C) oira ol W= (D) 5% A BIS 7l
Interest on partner’s capital is calculated on :-

(A) Opening capital (B) Closing capital
(C) Average capital (D) None of these

24,  TEIER BH H AM—8IM &7 favre far Sirar g —

(A) TRISR—TRTER (B) ot @ argura
(C) |9sild & 3FAR (D) 37 & PIg =l

In partnership firm, profit and loss are shared :-

(A) Equally (B) In the ratio of capital
(C) As per agreement (D) None of these
25. I Ub WA & —
(A) wrof (B)
(C) 7w <fed (D) 35t

Goodwill is an asset :-
(A) Useless (B) Tangible
(C) Worthless (D) Intangible
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26.

27.

28.

29.

AEERT 3a § uRad+ &l uRumE & —

(A) ®¥ &I gife (B) ¥ @1 wHIA

(C) BH ®T TdHIHRT (D) 378 | BIg 2
Change in the partnership agreement results in :-

(A) Reconstitution of firm (B) Dissolution of firm
(C) Amalgamation of firm (D) None of these

A AISIARI & AT —fadToT 3rguTd H uRax= ¥ BT & —
(A) B¥ BT D (B) ®¥ @1 gifos

(C) BH &1 HHTIA (D) 379 A PIg Bl
Change in profit sharing ratio of existing partners results in :-
(A) Revaluation of firm (B) Reconstitution of firm

(C) Dissolution of firm (D) None of these

g I @I BT Y YR AIEERT & Yol Wrdl § SRR fBar Siar g—
(A) TR -1 ST 3 (B) 71 ev—aIfY ST

(C) wHr 3rgura # (D) 37 & BIg e

The balance of Revaluation Account is transferred to old partner’s
Capital Account in their :-

(A) Old Profit-Loss Ratio (B) New Profit-Loss Ratio

(C) Equal Ratio (D) None of these

T IRIGR & gRT &I &I ¥y & I 8 —

(A) IS & rae @ ford (B)am™ # =1 uH & o
(C) Tt & o’ & ford (D) 395 | @I 2

11



30.

31.

32.

The amount of goodwill is paid by new partner :-
(A) For Payment of Capital (B) For Sharing the Profit
(C) For Purchase of assets (D) None of these

o

T AEER §RI @A &1 AR 9dhe M R YR AEERl §RT el i)

T—

(A) T 3rgaTe | (B) Qo 3rgurd H
(C) T arurd H (D) SRTeR 3uTd H

Share of goodwill brought by new partner in cash is shared by old

partners in :-
(A) Sacrificing Ratio (B) Old Ratio
(C) New Ratio (D) Equally

e # BT GRT U T WRIGR & 999 & 9HI WR AR g
Heuifera favar Sirar & ?

(A) zeferar (B) Il \wRRdl

(C) fFa= (D) =fy

Which of the following assets is compulsorily revalued at the time of
admission of a new partner ?

(A) Stock (B) Fixed assets

(C) Investment (D) Goodwill

ARER & Yol @ & e fhar omar g —

(A) TSl ® =11 4 (B) 3MeX0T WX & A
(C) 3meRor | (D) &1 ¥ fR=ar

12



33.

34.

35.

The partners Capital Account is credited with :-
(A) Interest on capital (B) Interest on drawings

(C) Drawings (D) Share in Loss

TRl vd SRl BT S99 gA: Jedifehd Hed W e Sar § —

(A) T3 anfdfe faes # (B) gHAIHA @I H

(C) ¥l ArSIeRl & Yoil @l o (D) aRgelt @Ta H |
Assets and Liabilities are shown at their revalued value in :-
(A) New Balance Sheet (B) Revaluation A/C

(C) All partners capital A/C (D) Realisation A/C

T AEER gRI I & ford aRlY T8 de RIRT a<id= AEieRl gRT 64
3rguTa H 9T It § ?

(A) erF—faaTsa srguT (B) IoM ergara

(C) @NT & ST (D) 77 & P

In which ratio, the cash brought in for goodwill by the new partner is
shared by existing partners ?
(A) Profit Sharing ratio (B) Capital ratio

(C) Sacrificing ratio (D) None of these

qTHIIh QI & FHE BIAT & —

(A) FH—BI FHI—TST Tl (B) SIM—gI1fs w@rar
(C) (A) 3R (B) <=t (D) ¥l @
Revaluation Account is like a :

(A) Profit-Loss Adjustment Account

13



36.

37.

38.

(B) Profit-Loss Account
(C) (A) and (B) both

(D) Realisation Account

TRl # & 7 -

(A) =T (B) &I
(C) =3 (D) &
Decrease in the Liabilities is :-

(A) Liability (B) Loss

(C) Expense (D) Profit

Pl T WRIER & Ja% W, uRTHRE § g3 qod b gig Bl fba @ 4o

sfde fHar SRAT ?
(A) TTHTH Tl (B) k1 @rdr
(C) QR TSGR BT Tl (D) 3TH & B =l

On the admission of a new partner, increase in the value of assets is

debited to which account ?
(A) Revaluation Account (B) Assets Account

(C) OId partner’s capital Account (D) None of these

AT 3T & —
(A) =T IFFUTT — T T (B) YRM™T 31UTd — T 31UTd
(C) =T 3rgurd — YRIT 3UTd (D) YT 3fqUTd — =T 3T

Gaining ratio is :-
(A) New Ratio — Sacrifice Ratio  (B) Old Ratio — Sacrifice Ratio

14



39.

40.

41.

(C) New Ratio — Old Ratio (D) Old Ratio — New Ratio

Si0 Ueto o Wi &1 A1aiRe gy A W), 39 forar S 8 —

(A) A—8TH Frar 4 (B) anf¥& fucer #

(C) (A) Td (B) <IT (D) 519 ¥ ®Ig el

If J. L. P. premium is treated as business expenses, it appears in :-

(A) Profit and Loss Account (B) Balance Sheet

(C) (A) and (B) both (D) None of these

U WRER &I g B R W AEERI & o & T8 Hgad Siad di
aiforfl & ford w9 <1 e |9 Ul § -

(A) iferett <rfer (B) wwivr e

(C) 9 |IEIER 1 diferdT (D) |1 HATSIERI &1 FHUOT HeY

On the death of a partner, the firm gets for joint life taken for all
partners :-

(A) Policy amount

(B) Surrender value

(C) Policy amount of deceased partner

(D) Surrender values of all partners

HH gRI-UT Wad i1 aiferil &1 i a9 Sy 8 —

(A) URFIS o U #
(B) ifversr it srgara #

(C) WRIARY & R eT—RTor ST 3
(D) |EIERE & T U #

15



42.

43.

Joint Life Policy amount received by a firm is distributed in :-

(A) Opening Capital Ratio

(B) Closing Capital Ratio

(C) Old Profit Sharing Ratio of partners

(D) New Profit Sharing Ratio of Partners

B3] TR B Jg 81 W IWHI < QI R fbdes @ H sWIART B

SIRAT ?
(A) T4 AEieRl & Yoit @ 4 (B) ¥ WEIER & Yol @rd #
(C) S9d SRITBRNI & @1 H (D) WRHR & @I H

In case of death of a partner, the whole amount transferred to :-
(A) Capital Accounts of all partners

(B) Capital Account of remaining partners

(C) His Successor’s Account

(D) Account of the Government

el AERR @ 9 R FERRT & Tedied & oM ®I fhae Yol @ |

ST fa S § 7
(A) 56 HEER & (B) 91 9EIGR @&
(C) 91! ARRER & (D) 915 TI AEER &

On the death of a partner, the profit on revaluation is transferred to
whose capital account ?
(A) Deceased partner (B) All partners

(C) Remaining partner (D) Only two partners

16



44.

45.

46.

47.

B4 & fdeed W |EERl © Yol @i 9 fod od § —
(A) T @ & TRIH | (B) 3MMERTT @ & ARIH |
(C) ¥ @Td & #Aegq 9 (D) o1 @ & ARIH |

On dissolution of the firm, partners Capital Accounts are closed

through :-
(A) Realisation Account (B) Drawing Account
(C) Bank Account (D) Loan Account

AEERl eRT BH &1 URed Y- fhar Sl Hadr & —

(A) 989d & IMER W (B)3/4 Al & fAviy W)
(C)1/2 Wl & fvig wR (D) 79 9 PIg Bl

A firm can be voluntarily dissolved by the partners :-

(A) On majority basis (B) On % members decision

(C) On Y2 members decision (D) None of these

g IR—31AIRad a1l &1 YIrar fbar Sirar & dr <=y —

(A) RIS @Td B A g H (B) ¥ @ & A u& H

(C) 99l W & ST uel | (D) §& @rd & o U H
Unrecorded Liabilities when paid are shown in :-

(A) Debit side of Realisation Account

(B) Debit side of Bank Account

(C) Credit side of Realisation Account

(D) Credit side of Bank Account

Tq IR—AMIRId IRFART ARIAR RT ol Il & a 9 q9RAT —

17



48.

49.

(A) Tl T & AT geT (B) ¥&% @ & A Ue

(C) Il @I & ST Ul (D) §% &I & ST Ue&

Unrecorded assets when taken over by a partner are shown in :-

(A) Debit side of Realisation A/C (B) Debit side of Bank A/C

(C) Credit side of Realisation A/C (D) Credit side of Bank Account

BH & FHIO DI S H FERET © [Ahd 9 ure T 9 gdyer i

fpar SIRATT —

(A) FISIERI B YSiT &1

(B) \TIGRT gRT B4 &I fQY Y FoT B

(C) ArsIeR & 3ffaRed Yol &

(D) 91eT SFGRI &I

On dissolution of a firm, out of the proceeds received from the sale of
the assets will be paid first of all to :-

(A) Partners Capitals (B) Partners loan to firm

(C) Partners additional capital (D) Outside creditors
AT §RT Yo AEIeR & fearferar giva fear S o8 & o R &

AT B S d ST 2

(A) TTITTT §RT FHTIA (B) 1frard qHT9H

(C) bl BeT & Tew & Ry § (D) 3% © g

Insolvency of a partner adjudicated by the court will come under which
type of dissolution of firm ?

(A) Dissolution by court

18



50.

51.

52.

(B) Compulsory dissolution

(C) On happening of certain contingencies

(D) None fo these

FHO9 B ST H AT I DS ARIGR HH & Dl Q1A T8I HRal © al

Sfie far S arelr @ 8§ -

(A) TH—2I @rdr (B) a¥gel! @rdr

(C) Wr=ISR T Yoft et (D) Vb el

On dissolution, if a partner undertakes to make a payment of a Liability
of the firm, the amount to be debited is :-

(A) Profit & Loss A/C (B) Realisation A/C

(C) Partners Capital A/C (D) Cash Account

AT Pl TIT H O Pls ISR Pls AHRT oidl § d fbd Wrdr & sfac

foar SIrar ® 7
(A) Tl & BT (B) ARIER & USil @A &l
(QRESEEI ] (D) A=Y T Bl

On dissolution, when a partner takes over an asset, which account is

debited ?
(A) Realisation Account (B) Partners Capital Account
(C) Cash Account (D) Asset Account

<l ST foreer # yeRia 7 81 fobw] B4 & JHU9 & 9 ghRI Sl &,
HEA & —
(A) 3T I (B) <3 faux

19



53.

54.

55.

(C) arferRad aTfca (D) ydaxr ==

Liability not appearing in the balance-sheet but paid at the time of
dissolution of firm is called -

(A) Outstanding Expenses (B) Bills Payable

(C) Unrecorded Liability (D) Prepaid Expenses
U BT 3 I bl MHIH W IRAT -1 JfAT9 2013 & F9 oRT

@ A ST BT & 2

(A) 78 (B) 79

(C) 52 (D) 53

A company issues its shares at premium under which section of Indian
Companies Act, 2013 ?

(A) 78 (B) 79

(C) 52 (D) 53

9 A< @1 Y AT fRd S € a1 fhd @ra & sfde fdar S ?

(A) e ST @ (B) W=y @l
(C) Yadid @rar (D) =ufa @

Which account should be debited when shares are issued to

promoters?
(A) Share Capital A/IC (B) Asset A/IC
(C) Promotor’'s A/IC (D) Goodwill A/C

B & SNl | SITg S drell Yoll dgarndl & —
(A) sferap ot (B) frtfia it

20



56.

57.

58.

(C) sifirarer oM (D) et it

Capital included in the Liabilities of a company is called :-

(A) Authorised Capital (B) Issued Capital

(C) Subscribed Capital (D) Paid-up Capital

gferfar MM &1 afdfes foes # fod ofiWe & oravia fewmar <irar & 2
(A) =TT TAT eI (B) fafaer =1

(C) ey, < (D) sfer o

Security Premium is shown under which head in the Balance-Sheet ?
(A) Reserve & Surplus (B) Miscellaneous Expenditure
(C) Current Liabilites (D) Share Capital

59 B Ireer R AR IF B W= I8 UG A8l Rl § Al BH Bl ST

fopar ST & —
(A) 31RH JraHr G ECaRIRIES]
(C) 3fer gah (D) S=g=i @rar

When amount is due on any call but it is not received, then the short
fall is debited to :-

(A) Calls-in-advance (B) Calls-in-arrear

(C) Share Capital (D) Suspense Account

B § 9 R g GOl ST aee B ford anfid GOl @ wern i wifRe—
(A) RH greHT (B) g&mar |

(C) 39T & (D) 3N & fRIAET &R 9cer

21



59.

60.

61.

Which of the following should be deducted from the called-up capital to

find out paid-up capital ?

(A) Calls in advance (B) Calls in arrear

(C) Share forfeiture (D) Discount on issue of shares
PR 37 i fbd o & -

(A) Yacidt &1 Harell & ford (B) uRad+1 Fo1g3ii & gR®! Bl
(C) e srerenfay o (D) SR |+t

Right Shares are issued to :-

(A) Promoters for the services

(B) Holders of Convertible debentures

(C) Existing Shareholders

(D) All of the above

TP I3 BT U e BT et 78 R Aahclt &
(A) P TR (B) MftRr W
(C) ¥—eq W (D) sifert qea W
A New Company can not issue its shares :-

(A) At discount (B) At Premium

(C) At par (D) At Face value

T HHT BT BT © —

(A) g deTfies TR (B) Tt Siraq
(C) Hifaa e (D) SWRia a4l
A company has :-

22



62.

63.

64.

65.

(A) Separate Legal entity (B) Perpetual Existence

(C) Limited Liability (D) All of the above

&V fbd T 39 @ g i R ) 78 g @l sfde fhar Siar -
(A) afer 57 @ § (B) afe1 BT @

(C) amv—z1f @ H (D) 9T |9 @rd H

Discount allowed on re-issue of forfeited shares is debited to :-

(A) Share capital A/C (B) Share Forfeiture A/C
(C) Profit & Loss A/C (D) General Reserve A/C
3Rl ®1 R far o1 |\t § -

(A) T R (B) 9e2 R

(C) Wi wR (D) 7 & el

Shares may be issued :-
(A) At par (B) At discount
(C) At premium (D) All of these

9 3fel B STed o S 2 4 ofw §on @rar a1 sfae fear Siar @ -

(A) 3l & 3ifdhd Jea | (B) 3iel & 9NIR 9 A

(C) 3=t & aiferd 4 4 (D) 3feli & Ued Hed |

When Shares are forfeited, the Share Capital account is debited with :-
(A) Nominal value of shares (B) Market value of shares

(C) Called-up value of shares (D) Paid-up value of shares

HIAT H ARTT v | e feaer faur S ' ?
(A) T SferEnRal &l (B) q@ifdreR RmEmRAl &l
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(C) o=l &1 (D) va<idi PI
To whom dividend is given at a fixed rate in a company ?
(A) To equity shareholders (B) To preference shareholders

(C) To debentureholders (D) To promoters

Udh ATGolh HE-1 H A D 3Mfehdq F=T gl & —

(A)7 (B) 200

(C) 20 (D) &g AT T8
Maximum number of members in a public company is :-
(A)7 (B) 200

(C) 20 (D) No limit

372l BT AU SR R 3fTdcH fHar SIrar & 9 —

(A) 3rcu—3TfigT™ &1 (B) srfa—a1fagr &1

(C) wa-3ifoeTT & (D) SwRTaT aT
Pro-rata allotment of shares is made when there is :-

(A) Under-Subscription (B) Over-Subscription

(C) Equal-Subscription (D) All of the above

FOTOS TR TS Bl & BT B —

(A) 12ufarera ufcrad (B) 20 ufcrera ferad
(C) ffer == (D) 15 wferera wferad
Rate of Interest on debenture is :-

(A) 12% p.a. (B) 20 % p.a.

(C) Fixed rate (D) 15 % p.a.
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69. ZRUUA & T R Bl § —
(A) wmil wwafa (B) =re] Ty
(C) arifaes awufy (D) ;34 wHfa
Discount on issue of debentures is :-
(A) Fixed Asset (B) Current Asset
(C) Real Asset (D) Fictitious Asset
70. Bl & ford ey WR ForuHl &1 R § -

(A) ITa Tt (B) o

(C) qeirTa < (D) ety

For a company, premium on issue of debenture is :-
(A) Revenue Receipt (B) Profit

(C) Capital Profit (D) Asset

71, ROUEl & T R QA1 S arel 9eer {9 Ul @I BIar & ?
(A) e =T (B) gofrrer =if
(C) Iffrd maTd &1 (D) 39H & P 8l
What is the nature of discount on issue of debentures ?
(A) Revenue Loss (B) Capital Loss

(C) Deferred Revenue expense (D) None of these

72, Ud A & M® facs @ koAl @ fhd Wve @ oravd @ Sl
g7
(A) 3rgRIerd ko (B) Srei@Teile o
(C) =y, <TfIcT (D) W= vd ey
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In the Balance Sheet of a company, Debentures are shown under
which head ?
(A) Unsecured Loan (B) Long term loan

(C) Current Liability (D) Reserve and Surplus
FOTOH Sl fh A GUs B o1 IR SR 8 Sd §, P Ol & —

(A) TSiTrd oo (B) 9&H RUqH

(C) aed FuTa (D) 577H ¥ g &
Debentures which are transferred by mere delivery are called
(A) Registered Debentures (B) First Debentures

(C) Bearer Debentures (D) None of these

FUUS BT Ufdha & —

(A) =i (B) e

(C) =t (D) g7 ¥ IS el
Consideration of debenture is :-

(A) Profit (B) Dividend

(C) Interest (D) None of these

FOTOH 1T Bl & —

(A) 3 G Pr (B) SrEi@Telle SER BT
(C) e it @1 (D) T4 & ®Ig Tl
Debenture is the part of :

(A) Share Capital (B) Long term Borrowing

(C) Owned Capital (D) None of these
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76.

77.

78.

79.

FOTYA & IMYE R NI Grdr g —

(A) ar&Ifde QT (B) 3rar<ifds @l
(C) e @ran (D) 37 &g e
Premium on Redemption of debenture account is :-
(A) Real A/C (B) Nominal A/C
(C) Personal A/C (D) None of these

FOTA TR Bkl & AT BT fd fores # feamn Sar & —
(A) FHfT ger # (B) <1 uer #
(C) Be e 4 (D) 57 & ®1g &

The balance of discount on debentures is shown in the Balance-Sheet

on :-
(A) Assets Side (B) Liabilities Side
(C) Foot Notes (D) None of these
RO DT TG T8I fBAT S Hpal & —

(A) 9 W (B) MiffeM ==

(C) 9e1 WX (D) 57 & ®1g &

Debentrues can not be redeemed at :-

(A) Par (B) Premium

(C) Discount (D) None of these

gol gk § $Hd B T FOOAT BT IfQ R IGa A8l (AT SIar §, o
U HMET ST © -

(A) =g e (B) e Tifrc
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80.

81.

82.

(C) Pz (D) i

If debentures purchased in open market are not immediately cancelled
then they are treated as :-

(A) Current Assets (B) Current Liabilities

(C) Investment (D) Capital

RifeT woe fafarT @mar gwen feamar § —

(A) 9 29 (B) ST 9

(C) =il (D) g7 &g el

Sinking Fund Investment Account always shows :-

(A) Debit Balance (B) Credit Balance

(C) Liability (D) None of these

RifhT Bre fFaw ) = @1 Bfse fhar omar g —

(A) AT—gT faaRor 4 (B) RifdT woe @rar

(C) 9™ dad H (D) RifT wos fAaer @rar #
Interest on Sinking fund Investement is credited to :-

(A) Profit & Loss statement (B) Sinking fund A/C

(C) General Reserve (D) Sinking fund Investment A/C
o By fafraeT @rar g —

(A) ama (B) =3

(C) wwfa (D) =1
Sinking Fund Investement Account is a/an :-
(A) Income (B) Expense
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83.

84.

85.

86.

(C) Asset (D) Liability

foir faaror 8§ —

(A) Ui a2y (B) afaferlRad deg
(C) ergAfia de (D) $75 & ®1g e
Financial Satement are :-

(A) Anticipated facts (B) Recorded facts
(C) Estimated facts (D) None of these

HH @ onfdfes s @& wwafd et # =me) wfa # wnfiet 8§ —
(A) fafder TR (B) BT H AHS
(C) wra (D) 377 & wefY

Current Assets on the Assets side of Balance Sheet of a company

include :-
(A) Sundry Debtors (B) Cash in hand
(C) Stock (D) All of these

S &1 e face TaR fear Siar 8 -

(A) &St oreT 3 (B) oirarad oy #
(C) (A) 1 (B) (D) T & ®Ig Tl
Balance Sheet of companies is prepared in :-

(A) Horizontal form (B) Vertical form
(C) Either (A) or (B) (D) None of these

Sd U B HRU B DI QR BRI b ford S R G SR 8, IH BB
ST —
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(A) =g C)ERIEE]

(C) wifaca (D) 377 & g TE

Amount set aside to meet losses due to bad debt is called :-

(A) Reserve (B) Provision

(C) Liability (D) None of these

A 9 B e fRres # b e & sravia e S ?

(A) Ry = (B) afer Toht

(C) ¥y wd afferay (D) 37 & ®IE &

Under which heading of Balance-Sheet is general reserve shown ?
(A) Miscellaneous Expenditure (B) Share Capital

(C) Reserves & Surplus (D) None of these
AT fATelyoT Pl HET ST & —

(A) afRer fawersor (B) Rer fazemor
(C) &ifast fawetwor (D) suH & BIg el
Vertical Analysis also known as :-

(A) Fluctuation Analysis (B) Static Analysis
(C) Horizontal Analysis (D) None of these
fo<ir fqarol & faweryonl # enfdel gar g —

(A) ARSI (B) er—2T= faaRor
(C) 3 fireet (D) Sugam s
Analysis of financial statement includes :-

(A) Trading A/C (B) Profit & Loss Statement
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90.

91.

92.

93.

(C) Balance Sheet (D) All of the above
fe<irg fageivor Syarfl 8 —

(A) fafmT &<t & ford (B) aierenial & ford
(C) Feora=enRel & ford (D) Swiad wdt

Financial Analysis is useful for :-

(A) Investors (B) Shareholders
(C) Debenture holders (D) All of the above
oY el ST S -

(A) ®ifye fzeryor (B) TRt fagorsor
(C) TREToTS Rgeryor (D) 7 ¥ B T

Vertical Analysis is also known as :-

(A) Static Analysis (B) Dynamic Analysis

(C) Structural Analysis (D) None of these

fo=ir faarolt & e 4§ enfiet 8rar & —

(A) 3TTcrerdT Ud fageryor (B) g1 & ygfcr teag=

(C) frreepdd FiaprerTn (D) SR a4

Interpretation of Financial Statement includes :-

(A) Criticism & Analysis (B) Comparison and trend study

(C) Drawing Conclusion (D) All of the above

AT U § —

(A) AHETIHAT AT (B) fehamefietar arura
(C) MerT &ra SrguT (D) 377% & @IS &
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94.

95.

96.

97.

Operating Ratio is :-

(A) Profitability Ratio (B) Activity Ratio
(C) Solvency Ratio (D) None of these
ATe] U # WA 7 —

(A) =Th (B) GR

(C) s (D) Sudfert &
Current Ratio includes :-

(A) Stock (B) Debtors

(C) Cash (D) All the Above

SATIIGEAT T AHTIa: UG fdhar Sir g —

(A) STeTROT 3rgaTd H (B) uferera

(C) om ¥ (D) 574 ®IS =&l
Profitability Ratio is generally shown in :-

(A) Simple Ratio (B) Percentage
(C) Times (D) None of these
I rfort # enfie gar g -

(A) s (B) #ei 1

(C) &R (D) qdeT =

The term fixed assets include :-

(A) Cash (B) Machinery

(C) Debtor (D) Prepaid expense

o & @ pI—1 eIl g A8 § ?
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98.

99.

100.

(A) fasm= (B) R & fagh R wif
(C) 9o (D) faarer =g

Which of the following is not operating expenses ?

(A) Advertisement (B) Loss on sale of car

(C) Salary (D) Distribution Expenses

= % 94 P9 T Adhs 7S © ?

(A) g fasma (B) =1 T a1deRkg=

(C) s (D) 3T vl & ford Urae™
Which one of the following is a cash item ?

(A) Cash Sale (B) Goodwill written off

(C) Depreciation (D) Provision for Bad-debt

= % ¥ PI9—31 b Iddig A8l § ?

(A) =T FHfa &1 I (B) =T wHfd &1 $Y

(C) o=l &1 fAetae (D) ATl &1 Ah< fdsh
Which of the following is not a cash in flow ?
(A) Sale of fixed assets (B) Purchase of fixed assets

(C) Issue of debenture (D) Sale of goods for cash

= § | -1 Ade FAg © 7
(A) &1 faet (B) @mRe farer

(C) TR 3rcudTei fder (D) SWRIgd T

Which of the following is considered as cash equivalent ?
(A) Treasury Bill (B) Trade Bill
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(C) Liquid short term Investments (D) All of the above

Yug—9q / Section-B

oY I U3 / Short Answer Type Questions

U AT 1 ¥ 30 IP oY SR © | 9 ¥ el 15 Ul & IR < | UAD YA
& farg 2 ofd FwiRa &) (15x2=30)

Question no. 1 to 30 are Short answer type. Answer any 15 questions. Each

question carries 2 marks. (15x2=30)

1 U1 Ud AT Gl T S—3d Wi BIg &l 3R Id |
State any two differences between Receipts and Payments
Account and Income & Expenditure Account.

2. It Qd T W Bl &l fIRari aar |
State two features of Receipt and Payment Account.

3. AR @7 &I faRivar) 9ar |
State two features of Partnership.

4. AT AT FaT 8 P
What is Sacrificing Ratio ?

5. A2 IS @mar 1 8 ?

What is Profit & Loss Appropriation Account ?

6. IR 3R ST § T 3R © P

What is the difference between liabilities and provisions ?

7. T <l fdaRor TR &_1 & DIs &l e 9l |
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10.

1.

12.

13.

14.

15.

16.

State any two objectives of preparing Comparative Financial

Statements.

AGlH Ah—3 &7 § ?

What is Accounting Standard - 3 ?

<o) ot ok aRaiefer ot ¥ e aqTEd |

Distinguish between Fixed Capital and Fluctuating capital.
AT ERT BH & fdeed | a1 oMoy & ?

What is meant by dissolution of a firm by notice ?

Ao qaifreR fer @ ' ?
What is Cumulative Preference Shares ?
WIS gAAT 31 BT F7 371 2 ?

What is Sweat Equity Share ?
e UdTe fIavor | o7 ey 7§ 7

What is meant by Cash Flow Statement ?

fPdl IR—IGR BT GBI TSI HRA W GERMT R TR BT
g e i fdar Siar g ?

Why assets and liabilities are revalued at the time of retirement of

a partner ?

=T R 7 7

What is Goodwill ?

Hdd AIEGR Bl 7 VMR & ol &1 Sl gfafte &1 S ?
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17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

What journal entry will be passed for the amount payable to

deceased partner ?
e T FIT IR T 2
What is meant by cash equivalent ?

foxi faaror & faveyor &1 |1 WEmRil & gdsy |

State two limitations of analysis of financial statement.

RN oy A RTS8 7

What is meant by Convertible Debenture ?

1A STOTd T BT § ?

What is meant by Proprietary Ratio ?
BT B Pl & fI9arg g |

State any two features of a company.

Iferd g1 & 319 RIT s © P

What do you mean by Accumulated loss ?

M-I 3TguTd I T Fl T STl 8 2

Why is Gaining Ratio calculated ?

HHE g1 FRIfT f6 9 arel S & YR ddrgy |

Name the types of Shares which a company can issue.

TSR Fold I T 39 8 7
What is meant by Partnership Deed ?
31feretr = § ?

What is Super profit ?
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27.

28.

29.

30.

@ @ &I faRar qarsy |
State two features of goodwiill.

foxi faaron & <7 Il & 9™ Iy |

State the name of two elements of financial statement ?

RIAT W1 TAT YAqeih- @Il H =R garsd |
Distinguish between Realisation Account and Revaluation

Account.

e, AT AT TR JAJUTT H 3R BT |

Distinguish between current ratio and quick ratio.

" 9a9F 937 (Long Answer Type Questions)

9T GRYT 31 9 38 b l" SN 2 | 398 A fhal 4 Ul & SR S | YD U

& fory 5 ofe AuiRT §1 (4x5=20)

Question no. 31 to 38 are Long answer type. Answer any 4 questions. Each

question carries 5 marks. (4x5=20)

31.

32.

Uh T AEIER & Ud% & AT BH B QI H O & b ol
B S § 2

What journal entries are passed in the books of the firm at the time
of admission of a new partner ?

ARER BH & [Joed W Fae—fdae Fuem & J9g § Sl graemE
BT ool B |

Explain the legal privisions for settlement of books on dissolution

of partnership firm.
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33.

34.

35.

36.

Foaal & fAff= BRI BT goiF PR |

Describe various kinds of debentures.

fo<fiar faaror @1 & ? gqa! HHsi &1 quid B |

What is Financial Statement ? Explain its limitations.

Qo o o0 9 2,000 HHAT 3T FO 10 UfT 3fe dTel BT BT fhar, 54
UR WO 10 URT 3¢ AR AT AT| § Sl WR wWo 3 Uiy I fgd AT
& gHET A | HYAT 4 3 W0 9 U I Yof g9 W g R @R
& | smaead SHer ufaftedt a8y |

A. B. Ltd. forfeited 2,000 equity shares of Rs. 10 cash on which 10
per share was called up. On these shares Rs. 3 per share were
due on second call. The company re-issued them at Rs. 9 per

share fully paid-up . Pass necessary journal entries.

T BH DI dTe] AU 251 & | SHBT aReldl U 1.5:11 7 | A =T
SR w0 60,000 B A @Tc] YRFHRRT Ud Wi a1 AR HI 01

PITY |
A Firm’s current ratio is 2.5:1. Its Liquid ratio is 1.5:1. If current
Liabilities are Rs. 60,000 calculate the amount of current assets and

stock.

f=forRad faaron & uRere™ fhamsh & e garg 1d HIfviw —

1—4—22 31—3—22
Rs. Rs.

SRR 85000 70000
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qAeR 140000 200000

g oo 15000 10000
TABTIA Ul 20000 —
Tad T BT AT 7000 10000
d% srfafaey 50000 40000

ST Bl gY B TR WO 35,000 BT A BT |

Compute cash flow from operating activities from the following

details :-

1—4—22 31—3—22

Rs. Rs.
Creditors 85000 70000
Debitors 140000 200000
Bills Receivables 15000 10000
Short-term loan 20000 —
Provision for bad debts 7000 10000
Bank Overdraft 50000 40000

The company earned a profit of Rs. 35,000 during the year.
FfeRad gamell | 31 A/E 2023 &I §AC 8F dlel 99 & o)

JAI—Y @Il d18d —
Rs.
Yoob AUE fbar 3,00,000
CRERER] 2,00,000
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TAHve Y

AT Y
SICEESIGDTICID)
STh Y
KTh| BT Y
IENRIRERI]

16,000

17,000

12,000

8,000

18,000

10,000

From the following information prepare the Income and

Expenditure Account for the year ending 31° March 2023

Fees Collected
Salary Paid
Tournament Expense
Travelling Expense
Stationary Expense
Postage Expense
Purchase of Books

Rent Paid

40

Rs.
3,00,000
2,00,000

16,000
17,000
12,000

8,000
18,000

10,000



